[bookmark: _GoBack]The following would be a nonresident cigarette return:
CigaretteInvtoAccountFor
	Nonresident taxpayers: Total of
SchTransaction/Schedule/TypeOfSchedule/2B/WITaxJurisdiction/TransactionDocument/Transactions/TotalSticks
SchTransaction/Schedule/TypeOfSchedule/2C/WITaxJurisdiction/TransactionDocument/Transactions/TotalSticks

DeductionsfromCigaretteInv
	Nonresident taxpayers: 0
CigarettesSubjecttoTax 
	Nonresident taxpayers: Total of
		CigaretteInvtoAccountFor minus DeductionsfromCigaretteInv
CigaretteTax
	Nonresident taxpayers: Total of
		CigaretteSubjecttoTax multiplied by (per stick tax rate)
ValueofStampstoAccountfor
	Nonresident taxpayers: Total of
		SchUnaffixedStampReport/BegInventory/Details/WITaxJurisdiction/GrossValue
		SchUnaffixedStampReport/Purchases/PurchaseOrderDetails/Stamps/WITaxJurisdiction/GrossValue
		SchPack/BegInventory/Details/WITaxJurisdiction/TransactionDocument/Transaxctions/TotalSticks multiplied by (per stick tax rate)
		SchTransaction/Schedule/TypeOfSchedule/1B/WITaxJurisdiction/TransactionDocument/Transactions/TotalSticks multiplied by (per stick tax rate)
SchTransaction/Schedule/TypeOfSchedule/1C/WITaxJurisdiction/TransactionDocument/Transactions/TotalSticks multiplied by (per stick tax rate)

ValueofDeductionsfromStampInv
Nonresident taxpayers: Total of
	SchUnaffixedStampReport/Adjustments/Stamps/WITaxJurisdiction/GrossValue
SchUnaffixedStampReport/EndInventory/Details/WITaxJurisdiction/GrossValue
SchPack/InventoryAdj/Details/WITaxJurisdiction/TotalSticks multiplied by (per stick tax rate)
SchPack/EndingInventory/Details/WITaxJurisdiction/TotalSticks multiplied by (per stick tax rate)

ValueofStampsUsedthisMonth
Nonresident taxpayers: Total of
		ValueofStampstoAccountfor minus ValueofDeductionsfromStampInv

CigaretteTaxDue
	CigaretteTax minus ValueofStampsUsedthisMonth



